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1) If x°=k where x and k are integers, which
of the following could be the value of k?

A) 3

B)6

)9

D) 12

E) 15
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For which of the
following graphs is
f(x)=f(-x) for all
values of x shown?
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3) A class has twice as many boys as girls. The students in
the class stand in one line, with a girl at the front of the
line. Which of the following must be true?

A) the last person in line is a girl.

B) the last person in line is a boy.

C) there are more girls than boys in the class.

D) There are at least two girls standing next to each
other.

E) There are at least two boys standing next to each
other.

Jul 27-10:16 AM
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3) A class has twice as many boys as girls. The students in
the class stand in one line, with a girl at the front of the
line. Which of the following must be true?

A) the last person in line is a girl. &

B) the last person in line is a boy. X

C) there are more girls than boys in the class. X

D) There are at least two girls standing next to each

er.
@ere are at least two boys standing next to each
er.
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4) Which of the following is the equation of a
line that has an y-intercept of 2 and an x-
intercept of 3?

A) -2x+3y=4

B) -2x+3y=6

C) 3x+3y=4

D) 2x+3y=6

E) 3x+2y=6

Jul 27-10:22 AM
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4) Which of the following is the equation of a
line that has an y-intercept of 2 and an x-
intercept of 3?

A) -2x+3y=4 x=0 = Yy=% x

B) -2x+3y=6 Y=o= X' ny X

C) 3x+3y=4  F=0 = XK<% X

D) 2x+3y=6 V=0 k=3 / =0 Y=LV
E) 3x+2y=6

Jul 27-10:25 AM
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5) In a game, each of 5 players scored
between 0 and 100, inclusive. If their
average score was 80, what is the greatest
possilbe number of players who could have
scored 50?

A) None

B) One

C) Two

D) Three

E) Four

Jul 27-10:26 AM
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5) In a game, each of 5 players scored _

between 0 and 100, inclusive. If their Sum= 5 (,5)
average score was 80, what is the greatest — Ll (1)
possilbe number of players who could have -

scored 50?

A) None,

B) One X 90 + (1o =%0

C) Two Q A

D) Three x 0450 « 20

E) Four X =&0

50150 + (00 €00 % |00
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6) If each step makes a
right angle, what is the
value of t in terms of s?
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August 02, 2012

12



practice-problems.notebook

6) If each step makes a
right angle, what is the
value of t in terms of s?

S Ces%s™
57 C=ay™
C C= \ﬁ(S)

=75
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7) The sum of 4 consecutive odd integers,
w,Xy, and z, is 24. What is the median of
the set {w,x)y,z,24}?

A) 3

B)5

C)7

D) 9

E) 24

Jul 27-10:41 AM
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7) The sum of 4 consecutive odd integers,
w,Xy, and z, is 24. What is the median of
the set {w,x)y,z,24}?

A) 3 (x) $ (X.(.l)-(r(y't\t)* (X*(-)= 3‘*
B)S WX A4 1=y
C)7 ¥X=\2
D) 9 X=3

E) 24

Jul 27-10:42 AM
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If k=f(3), what is the value of g(k)?
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8)

X £09) g{x)
O 5 T

\ ) Y
2 ° 3

3 Y |

¢ l )
5 3 s)

If k=f(3), what is the value of g(k)?

fE)=¢ (=904 =@

K=y
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L= X*
3()0 = X

August 02, 2012
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August 02, 2012
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9) In a school there are k classes with n students in each
class. If a total of p pencils are distributed equally
among these students, how many pencils are there for
each student?

A) p/(kn)

B) (kn)/p

€) (kp)/n

D) (np)/k

E) npk

Jul 27-10:57 AM
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9) In a school there are k classes with n students in each
class. If a total of p pencils are distributed equally
among these students, how many pencils are there for
each student?

A) p/(kn) Pencils .

) (kn)/p St~ T
€) (kp)/n kN
D) (np)/k

E) npk

Jul 27-11:00 AM
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10) c X-t-—"a

what (s e yelve oF x""x"- :
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10) F x+-—a

w\w\- is +\o vh-\“! dc' X"'-"'
X(x+x=a) (1)1
K*\Qx
"U<+I°O
(X-0k-)=0
X =4

Jul 27-2:00 PM
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11) if 1/4 of 4/3 is subtracted from 2 what is
the result?

Jul 27-2:04 PM
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11) if 1/4 of 4/3 is subtracted from 2 what is
the result?

5 166 4 \LUY

Jul 27-2:05 PM
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12) The slope of a line passing through the
points (a,0) and (1,-2) is 1/2. What is the
value of a?

Jul 27-2:08 PM
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12) The slope of a line passing through the
points (a,0) and (1,-2) is 1/2. What is the
value of a?

N~ Ton = D% = [~ ~ @
( o3
50) . _o-( T~ ~ 2
() 27\ (-90)= ()
< 2_:=L [~a= ‘q
Tz —0= ~

Jul 27-2:09 PM
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13) One adult and 10 children are in an
elevator. The adult’'s weight is 4 times the
average weight of the children. The adult’s
weight is what fraction of the total weight
of the 11 people?

Jul 27-2:14 PM
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13) One adult and 10 children are in an elevator. The
adult’s weight is 4 times the average weight of the
children. The adult's weight is what fraction of the total
weigh’r of the 11 people?

(‘.‘\\\e\. wright A
P} G@\.v\'\"\ar&\pv\' W7
A=Yc " X
[0C+ A =Fotd waigAh Yo T
(¥e= tw.

Jul 27-2:16 PM
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14) line m (not shown) is

A
obtained by horizontally / (o) )
translating (sliding) line | ~9,0) x

two units to the left. If
the equation of line mis
y=(4/5)x + k, what is the
value of k?

Jul 27-2:20 PM
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14) line m (not shown) is

obtained by horizontally

translating (sliding) line | y
two units to the left. If
the equation of line m is

y=(4/5)x + k, what is the
value of k?

Y= Ex¢k
Ot%;—m =5,%)
O:-T’ ‘(‘K U= %—\-}51‘\\

kaz'?.’_- 5‘_(’ Y=

Jul 27-2:23 PM
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